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Limit03 Answers for No.9594

(
| . 2 . 3 2 . X +2x+3 11 ¥
Ad=(lim 2x"+2=20) 2=(lim (4x-3)(3x -2x"+1)=85) d=|lm —/————=3 M
x—3 x—2 x—>1 3x-1 a
T—4x -1 Ax=2-5 1
.4:( lim [ :—] .5:( lim —:—J .6 =(lim +/x —3 =undefined) t
Ans] = 40 Xx—49 14 x—27 x—27 10 x—3 h
. ) X — ) |x2+2x—15| | @
7 =(lim |x—1|=2) 8=| lim 77 =undefined 9=| lim =-8 M
x—3 x—2 X—2| x — 3- x—3 U
_ 4 . [5x4
A0=| lim ——=77=-00| .I/=| lim 5 = undefined Math@MUT T
L x—>0- X |x| x> (475 15x°—=22x+8 Iy
— B :I(_
Ad=[1lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=-3 lim f(x)g(x)=-10
x— 0- x—0- x— 0+
3= . fx) 5 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) 2 x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim f(x)=-2.) S=( lim f(x)=-2.) = lim f(x)=-2.)
x—(-13)- x—(-1.3)+ x—(-1.3)
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Limit03 Answers for No.9608

| . 3 . 2 . x+2 1
A=(lim 2x"+3=19) 2=(lim (x"-3x-3)(4x+4)=-60) S=lim — =T
x—2 x—2 xo2 3Xx +2x 7
x—-1 -1 4—Ax+5 1
.4:(lim [ :—j .5:( lim —:—J .6 =(lim 4/x -3 =undefined)
o1 l—x 2 x— 11 11 -x 8 x—>2
Ansl = ) ,
] ] X — ) |x —7x+10|
7=( lim |x+2|=1) 8= lim T = undefined 9= lim ———— =3
x—(-3) x—3 X—3| x5+ x—=35
2 2 , 4x*+7x-2
A0=| lim 77-—=0| .Il=| lim —F 7  =undefined Math@MUT
L X0+ |x| x x> (1/4) |4X—1| |
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=0 lim f(x)—g(x)=-6 lim f(x)g(x)=9
x—0- x—0- x— 0+
3= . fx) :
lim =1 lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fix)=-2)) S=( lim f(x)=-2.) = lim f(x)=-2.)
x> (-2.8)- x> (2.8)+ x—(2.8)
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(
, , , , C 5x+1 11 ¥
Ad=(lim 2x"-4x+1=1) 2=(lim (2x"+2x+3)(3x+3)=42) 3= lim =1 M
x—>2 x—>1 x—1 2x+4 4
x=5 1 AVyx—-1-5 1
.4=(lim Jx :—J .5:(lim —:—) 6=(lim +/x—1=42) t
xo2s X—25 10 x>26 X —26 10 x—>3 h
Ansl = 2 )
, o x=2 ¥ =7x+10] @
7=( lim |x+3|=2) 8= lim 77 = undefined 9=| lim =3 |||
x—=(-1) x—>2 x_2| X =5+ x=5
5 5 , 20x* — 41 x +20 v
A0=| lim ——77=-00| .II=| lim = undefined Math@MUT T
L oo X |x] x> (4/5) |5x 4] .
L'
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=6 lim f(x)-g(x)=-6 lim f(x) g(x)=-8
x— 0+ x—0- x— 0-
3= . f(x) :
lim =2 lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-2.6)- x—(-2.6)+
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Limit03 Answers for No.9649

_:_(_
i ) ) ] 3 ) 4 +xX*+2x 7 11
A=(lim x"+x+2=14) 2=(lm (x+1)(2x -3x+2)=36) B=|lm ——/—————————=— M
x—3 xX—2 x—1 2x+2 4 a
-3 1 19 —x
.4:(lim Jx :—) .5:[lim —z-sj 6=(lim 4/3-x=1) f
Ans] = xs9 X—9 6 x>19 4/x—3 -4 Y52 h
. ] . -1 1| @
7= lim |x-1]|=3) 8=| lim = undefined 9= lim —5———=<||| i
x> (-2) x>3 DX x> 1+ |x +3x—4| 5 I
3 03 _ |4x-3]
A0=| lim ——77=—00| .[Il=| lim 5 = undefined Math@MUT T
L x—>0- X |x| x>3/4) 4x +13x—-12 Iy
_ . (.
d=[1lim f(x)=5, lim f(x)=35, lim f(x)=5]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=35, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=10 lim f(x)—g(x)=10 lim f(x) g(x)=-25
x— 0+ x— 0- x— 0-
3= . f(x) :
lim =1 lim f(x) g(x) = undefined Math@MUT
x— 0+ g(X) x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-4.2)- x> (42)+ x> (-42)
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5x° -2

x+1

x—4

3

6= (lim 41 —x =undefined)

2

Math@MUT

f(x)=-3.)

J=(lim 2x —4x+4=2) 2=(lim (2x—-4)(5x>+2)=94) Jz[hm
x—1 x—3 x—1
4 (r x =7 JJ (1 m]
4= m =" m ~—r— =-
Ans] = x4 499-x 14 x—>27| Al x ; -5 x—2
X -
7=(lim |x—1]=2) .8:(Hm —umkfmﬂj lim
x—3 x—2 - X
22 |3x-1]
A0=| lim —+77=0 A= lim = undefined
L x—>0- X |x| x—(1/3) 35— 10x+3
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x) = undefined]
x—0- x— 0+ x—0
2=[1lm g(x)=2, lim g(x)=2, lim g(x)=2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=1 lim f(x)g(x)=-6
x = 0- x— 0+ x = 0-
3= fltx) 3 g(x)
im == = undefined Math@MUT
L s>or g(x) 2 x>0 f(x)
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim f(x)=-3.) S5=( lim f(x)=-3.) .6=( lim
x> (-3.7)- x> (3.7)+ x> (-3.7)
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o
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Limit03 Answers for No.9717
2
[ o , , , ax-1 7\ 7
d=(lim 4x =32) 2=(lim (x+3)(4x —3x+3)=180) S=lm — =T M
x—2 x—>3 xo2 2x =2x"+1 9 a
8—4x -1 Ax—1-2 -1
.4:[lim [:—J .5:[lim —:—J .6=(lim +/x —2 =undefined) f
Ansl = x— 64 x—64 16 x—=>5 5-x 4 x—>2 h
- x-5 -1 ’
7=( lim |x+2|=0) .8:(lim | |=undeﬁnedJ .9={lim z—z—j %
x> (-2) ro2 2-X x5 |x —25| 10
.4 4 , |5x-2] U
A0=| lim —+77=w| .I/=| lim 5 = undefined Math@MUT T
x>0+ X |x x—>(2/5) S5x —22x+8 oy
L
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=6 lim f(x)—g(x)=2 lim f(x) g(x)=-8
x— 0+ x— 0+ x = 0-
3= . fx) :
lim =-2 lim f(x)— g(x) = undefined Math@MUT
L x = 0- g(x) x—>0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim f(x)=-6.) .5=( lim f(x)=-6.) 0= lim f(x)=-6.)
x—(-5.1)- x—(-5.1)+ x—(-5.1)
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d=(lim x*=2x+3=6) .2=(lim (3x’=3x)(4x"=2)=612) .3:(
x—3

x—>3
-3 1 4—x
.4=[lim [ =—J .5=(lim —=6j
Ansl = x—>9 x=9 6 5

x4 3—alx+

x=2
7=(lim |x+3|=6) .8:(1im —=undeﬁnedj .9:{lim
x—3 x—2 x_2|
2 2 . 8x'—14x+3
A0=| lim ——77=-00| .I/=| lim = undefined
L x—0- X |X| x—>(3/2) |2X—3|

J=[lim f(x)=4, lim f(x)=4, lim f(x)=4]

x—0- x— 0+ x—0

x—0-

x— 0+ x—>0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=5
x—0- x—0- x— 0+
3= . fx) :
lim =4 lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0
Ad=(lim f(x)=4) 2=(lim f(x)=5)
Ans3 = x—4- x >4+ x—>4
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim
x> (-4.9)-

x—(-4.9)+ x—(-4.9)

x—>4

3% +4x+2
5x+2

x—3

2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |

lim f(x)g(x)=4

f(x)=-4.)
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|

J3=(lim f(x)=undefined)

3]
6= (lim 4/ 1 —x = undefined)

x—3
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Limit03 Answers for No.9877
(
I , ) _ ) o3d-2x 1) ] Y
d=(lim 5x"-2x+2=41) 2=(lm (x+1)(2x -2)=0) S=lm —/———— =7 M
x—3 x—1 x—1 3x-1 2
a
- S—4x+1 -1
.4=(lim =4J .5=[lim —:—j 6=(lim +/3—x=4/2) t
Ans] — x4 2—4lx xo24  X—24 10 x> 1 h
_ x-5 1| @
7=( lim |x-3|=5) .8:(1im | |:undeﬁnedj .9:(lim 2—:—) Y,
x> (2) x>l X — st | —6x+5] 4 U
.4 4 _ 10x*—13x +4
A0=| lim ——77=- Al=| lim = undefined Math@MUT T
L x—>0- X |X| x—>(4/5) |5X—4| 110
L
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x—0
2=[lim g(x)=-2, Iim g(x)=-2, lim g(x)=-2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-6 lim f(x)—g(x)=6 lim f(x)g(x)=8
x — 0- x— 0+ x = 0-
3= . fx) . gx)
lim ——=-2 lim = undefined Math@MUT
L x— 0+ g(X) x—>0 f(X) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-5.8)- x—(-5.8)+ x—(-5.8)
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(
3,2 3 x—1 I
Ad=(lim 3x"+x =28) 2=(lim (x —=4x)(x+4)=-15) JI=|1lim ——=0 M
x—=2 x—o1 x>1 2x +4x
100 — x x—4 “
.4=( lim —=-20J .5=[lim —:—6] 6=(lim 4/2—x =undefined)|| !
x%Nm’J;—IO x4 3—4/x+5 X3 h
Ansl = 5 s
. o x=2 . |x—3x—4| @
7=(lim |x+2|=5) 8= lim T——7 = undefined 9=| lim ——————=5||| 4,
x—3 x—2 x_2| x4+ x—4
2 2 , 13— 4] u
A0=| lim 77-—"=0 A= lim 5 = undefined Math@MUT T
L xﬁ%|x| X x—>4/3) 3x =19x+20 1y
_ i L'
d=[1lm f(x)=-1, im f(x)=-1, lim f(x)=-1]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)—g(x)=-4 lim f(x)g(x)=3
x = 0- x— 0+ x = 0-
3= o fx) -l :
lim = lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x— (-4.7)- x— (-4.7)+
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x—3 x—2

x> 13 Al X 3_6

Ans] = x>16 4—4/x x> 1
, 3-x ¥ —2x-15]
7=( lim |x-1]|=2) 8=| lim = undefined 9=| lim
x—(-1) x—3 [ X~ | x5+ x=35
.4 4 . 15— 11x+2
A0=| lim ——-77=0 A= lim = undefined Math@MUT
L cooe X |x] sers |52
I Ad=[1lm f(x)=-3, lim f(x)=3, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[1lm g(x)=1, lim g(x)=1, lim g(x)=1]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=4 lim f(x)—gx)=-4 lim f(x)g(x)=3
x— 0+ x—0- x— 0+
3= RC)) . gx)
lim ——=-3 lim = undefined Math@MUT
L x —0- g(x) x—>0 f(X) |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x — 4+ x—4
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x> (-4.6)- x> (-4.6)+ x> (-4.6)

| o 3 2 _ o 3 2 _ s M_ |
d=(lim 5x+3x" +4x+4=178) 2=(lim (3x -3x"+4x)(4x-3)=100) .3=| lim 3 =-1
x_

_16 _13
4=(lim x—=—8j (hm al ] 6=(lim +/x—3 = undefined)

b

S
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Limit03 Answers for No.10063
| . 3 2 . 2 5 ) Y +4xt 63 1
A=(lm 2x" +2x " —4x+1=1) 2=(lm (3x"—x+3)(2x"+2x)=648) I=|lim ——=7_
53 Sx—-4 11

(
)
M
x—1 a
x—25 x—11
.4:[lim :-10J .5=[lim —z-sj 6=(lim +/x -2 =undefined)|| !
Ans] — x—>25 5—4/x xo11 4—4/x+5 x> 1 h
| x-2] - [Prax-s| [ @
7=(lim |x+2|=3) 8=| lim = undefined 9= lim —————=-6||| »
x—1 x—2 2—x x—1- x—1 U
2 2 , |5x—4|
A0=| lim —+77=0 Al=| lim 5 = undefined Math@MUT T
L x—>0- X |x| x4/5 20x =21 x+4 1y
L
Ad=[1lm f(x)=-4, lim f(x)=4, lim f(x) = undefined ]
x—0- x— 0+ x—0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=6 lim f(x)—g(x)=-6 lim f(x)g(x)=8
x— 0+ x—0- x— 0+
3= - fx) :
lim =-2 lim g(x)— f(x) = undefined Math@MUT
L x — 0- g(X) x—>0 A
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
A4=(C lim flx)=-3.) S5=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(-2.1)

x—(-2.1)- x—(2.1)+
):0:9:9:9:9:9:9:9:9.9:9.9:9.9:9.9:9.0:9.9:9.0:9.9:9.9:0:0:9.9:9:9:9:9:9:9.9:9.9:0.9:9.0:0.0:9.0:9.0:9.0:9.0:9.0:9.0:9.0:0.0:9:0:9:0:0:0.9:9.9:0.9:0.0:0.0:9.0:9.0:9.0:9.0:9.0.0.0:0.0:0.9:9:9:0:9.0:0.¢
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i 2x-2
d=(lim 5x*+2=7) 2=(lim (X +x+2)(2xX°+2x+1)=104) 3=(lim —
x— 1 xo2 xo1 3x —x+1
4—x 4—4x+2 -1
.4:[lim :4J .5:(lim —:—] O=(lim 4/x=2=1)
x—>4 2—\/; x— 14 x—14 8 x—3
Ansl = 5
) ) X — . |x —9x+20|
.7=( lim |x+2|:1) 8=| lim 77 =undefined 9=| lim =-
x> (-1) x> 1 X—1| x> 4- x—4
. 4 . 4xX*+17x-15
A0=|lim 77-—=0| ./II=| Ilim = undefined Math@MUT
L x — 0- |X| X x—(3/4) |4X—3|
i J=[1lim f(x)=-2, lim f(x)=-2, lim f(x)=-2] ]
x—0- x =0+ x>0
2=[lim g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-1 lim f(x)-g(x)=-1 lim f(x)g(x)=2
x— 0+ x — 0- x—0-
3= . f(x) :
lim =-2 lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim f(x)=-6.) 5=( lim f(x)=-6.) .6=( lim f(x)=-6.)
x—(-53)- x—(-53)+ x—(-5.3)
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Limit03 Answers for No.10367
2
_ i S : 3 2 C3x -2x 11 7
d=(lim 4x +x"-4x=105) 2=(lm (x—-1)(4x +4x -2x)=44) 3=|lm ——=16 M
x—3 x—2 x—2 x—1 a
) x—4 ) 15—x ] p
4 =] lim =-4 S=| lim —F7—=38 O6=(lim 4/3-x=1)
x4 2—4/x xo>15 4—4/x+1 x—2 h
Ansl = ,
) ) x—2 ) x—2 1 @
7=( lim |x+3]|=0) 8= lim T——7 = undefined 9=| lim ——————=—||| ,,
x> (-3) x—2 |X—2| X2+ |x —6x+8| 2
33 12 4x-6 v
A0=| lim ——77=-0 Al=| lim —_——7  =undefined Math@MUT T
L x—>0- X |x| x—>(2/3) |3x—2| 11y
_ . L
d=[1lm f(x)=-4, lim f(x)=-4, lim f(x)=-4]
x—0- x =0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=-7 lim f(x)g(x)=-12
x—0- x— 0+ x— 0+
3= . ftx) 4 :
1 =T lim g(x)— f(x) = undefined Math@MUT
L x—0- g(X) 3 x—=0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-5.) S5=( lim f(x)=-5.) 0= lim f(x)=-5.)
x—(-5.5)+ x—(-5.5)

x—(-5.5)-
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Limit03 Answers for No.10372
(
[ o , . 2243 7)Y
d=(lim 5x"+3x-3=5) 2=(lim (3x+3x +4x)(4x+3)=484) 3=| lim == M
x—>1 x—2 x—3 x+3 2 a
-4 -1 l—4x+4 -1
.4:[lim [ :—J .5:{ lim —:_J .6=(lim +/ 1 —x =undefined) t
Ans] — v>16 16—x 8 v>(3) X+3 2 xo1 h
- x—3 1) [
7=( lim |x+2|:1) .8:(lim —:undeﬁned] .9=[lim Z—Z—J %
x5 (-1) PR X—1| X3+ |x +x—12| 7 U
_ _ 20x"—x—12
A0=| lim 77-—=o Al=| lim —————7 =undefined Math@MUT T
L ¥ 0- |x| x x> (4/5) |5x—4| Iy
_ . L
d=[1lm f(x)=-5 lim f(x)=-5, lim f(x)=-5]
x—0- x =0+ x>0
2=[lm g(x)=-2, lim g(x)=2, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-7 lim f(x)—g(x)=-7 lim f(x)g(x)=-10
x—0- x— 0+ x— 0+
3= . ftx) 5 g(x)
lim ——== = undefined Math@MUT
L x — 0- g(X) 2 x—>0 f()C) A
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.8)- x> (-48)+ x> (-4.8)
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Limit03 Answers for No.10375

(

, , _ ) o2 —2x+2 13| Y
d=(lim 3x"+3x+1=7) 2=(lim (5x-4)(x"—4)=55) S=|lm ————— =7 M
x> 1 x—3 v>4 3x —x+2 23 u

4—x AVyx-2-3 1

.4:[lim :4j .5:(lim —:—j 6=(lim +/x -3 =undefined)|| !
Ansl = x—>4 2—\/; x—>11 x—11 6 x—2 h
. . |X—2| , |x2—4x+3| | @

7=( lim |x+3|:2) 8= lim = undefined Y= lm ———=-2 M
x> (-1) 2 2-X x> 1- x—1 U

22 . 15X -2x-8
A0=| lim ——77=- Al=| lim = undefined Math@MUT r
L x—>0- X |x| x—>(4/5) |5x—4| )
L
Ad=[1lim f(x)=-1, lim f(x)=1, lim f(x) = undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=-3, Iim g(x)=-3, lim g(x)=-3]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)—g(x)=2 lim f(x)g(x)=-3
x—0- x—0- x— 0+
3= o fx) -l : )
lim ——=— lim = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 g(X) |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-5.6)- x—(-5.6)+ x—(-5.6)
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Limit03 Answers for No.10426

_i_
— _ )
. 3.2 . 2 ) 2x-2 1
A=(lim x +x"+3x-2=16) 2=(lim (x-4)(5x" —x+1)=-38) 3= lim ; 5 == M
x—>2 X2 rs2 2xX -3x"+3x S a

x—16 x-=3
.4:[ lim :-SJ .5=(lim —:2] 6=(lim 4/2—x =undefined) || !
x>16 4—4/x x»3 Afx-2-1 X3 h
Ansl = )
] ) 3—x ] x—5 -1 @
7=( lim |x-2]|=4) 8=\ lim T——7 = undefined 9=| lim —————=— by
x—(-2) x—3 |X—3| x—5- |x —x—20| 9
11 |4x-1] 4
A0=| lim ——77=0 Al=| lim 5 = undefined Math@MUT T
L x>0+ X |x| x> (1/4) 4x =21 x+5 1y
L'
Ad=[lim f(x)=-5 lim f(x)=5, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=2, lim g(x)=2, lim g(x)=2]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=7 lim f(x)-g(x)=-7 lim f(x)g(x)=10
x— 0+ x—0- x— 0+
3= . fx) S5 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x—0- g(X) 2 x—=0 |

Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
| 4=( lim flx)=-4) S5=( lim flx)=-4.) .6=( lim fi(x)=-4.)
x> (-47)- x> (A7)t x> (-4.7)
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Limit03 Answers for No.10628

- 4x-3 5
d=(lim 2x*+1=9) 2=(lim (3x°+3x-4)(4x+1)=416) .3:(lim 3—=§j

2
x—>2 x—3 xo2 Sx +4x +x

Jx =5 -1 X+4
4=\ lim ——J .5:[ lim —=-2j .6=(lim 4/ 1 —x =undefined)
[ xo(4) 1—4x+5

Il
o
N—
R LR T

. 25-x 10 .
Ans] = —25 -2
] ) x—1 ) |x —x—2|
7=( lim |x+l|:0) 8 =| lim 77 =undefined Y= lm ————
x> (-1) x—1 X—1| x—2- x—2
R . 12x° = 19x + 4
A0=| lim —=77=0]| .//=| Ilim = undefined Math@MUT
L x>0+ X |x| x—(4/3) |3X—4| i
I J=[1lim f(x)=4, lim f(x)=4, lim f(x)=4] ]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=7 lim f(x)—g(x)=7 lim f(x)g(x)=-12
x— 0+ x— 0- x — 0-
3= . flx) 4 - fx)
lim =T li = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 g(X) |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
4= lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (-23)- x> (23)+ x> (-23)
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Limit03 Answers for No.11408

“(
i 2 . 3 ) x+2 2) ] )
A=(lim 5x"+2=22) 2=(lim (5x -2)(x+3)=190) S=lm — =7 M
X2 X2 r»2 3x°-3x 3 a
x—81 29 —x
.4:[lim :-18J .5:[lim —z-lo] 6=(lim 4/ 1—x =undefined)|| !
x—81 9—4/x x>2 A/ x—4-35 x—>2 h
Ansl = 2-x x-3 N @
7=(lim |x+3|=5) .8:(lim —zundeﬁnedj .9=(lim 2—:—} by
X2 X2 |X—2| x> 3- |x —2x—3| 4
5 5 ' |6x - 5] 4
A0=| lim 7—7-—=0| ./Il=| lim 5 = undefined Math@MUT T
L x — 0+ |X| X x> (5/6) 6x —23x+ 15 1y
L'
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=1 lim f(x)-g(x)=-5 lim f(x)g(x)=6
x—0- x—0- x— 0+
3= fltx) 2 :
m =T lim g(x)— f(x) = undefined Math@MUT
L x— 0+ g(X) 3 x—>0 |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim f(x)=-5.) S=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—(-5.7)- x—(-5.7)+
[Page = 0018]
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Limit03 Answers for No.11560

[Page

x—2

.4:(lim
x—4

J=(lim 3x°+2=14)

x—2

2=(lim (5x+1)(2x +2x—1)=209)

o
x—1

 3x’-2x-4
11m - . =

3x—x-4

2—-4x -1 -29
[:—] .5:(lim —:IOJ 6= (lim 4/2 —x = undefined)
_ x—4 4 x52 A/x—4 -5 x2
Ansl = R
) ) - X ) x—2 1
7=( lim |x-3|=5) .8:(11m —=undeﬁned] .9=[hm z—z—j
X (2) PR X—1| X2t |x +x—6| 5
4 4 , 10x*—17x+3
A0=|lim ——=77=-00| .I/=| lim = undefined Math@MUT
L x—>0- X |x| x—(1/5) |5X—1| i
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=38 lim f(x)—g(x)=-2 lim f(x) g(x)=-15
x— 0+ x— 0+ x—0-
3= f) 3
lim = lim f(x) g(x) = undefined Math@MUT
L x— 0- g(X) 5 x—>0 A
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim flx)=-4.) S=( lim f(x)=-4) .6=( lim f(x)=-4.)
x— (-4.9)- x—(-4.9)+
0019]

x—(-4.9)

)

Sl NoE@s -8 ek
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Limit03 Answers for No.11806

(
_ ) _ ., P e3x+2 3| Y
d=(lim 4x -4x+1=1) 2=(lim (4x+1)(5x -3x"-2)=0) 3=|lm —F =7 M
x> 1 x> 1 il 4x"+2x-2 2
a
-9 2—-4x+5 -1
.4:[lim a :6j .5:[ lim —x:—] 6=(lim +/x—1=42) t
x—=>9 \/;—3 x—(-1) x+1 4 x—>3 h
Ansl = 5 ,
| ETS e @
7=( lim |x+3|:2) 8= lim = undefined 9= lim =-2 M
x—(-1) x—1 - X x—1- x—1 U
5 5 . 3xX°+8x-3
A0=| lim ——775=0| .I1=| lim —-— 7 =undefined Math@MUT r
L x>0+ X |X| x—(1/3) |3X—1| 41 )
L'
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=9 lim f(x)—g(x)=-1 lim f(x) g(x)=-20
x— 0+ x— 0+ x—0-
3= . flx) 4 :
lim = lim f(x) g(x) = undefined Math@MUT
L x—0- g(X) 5 x—>0 |
A=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-3.4)- x> (34)+ x> (-34)

DG BT ISR N D:19:9:0:0:0:0:0:0.0.9:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0:0:0:0:0:9:9.9:0.0.9:0:9:9:9:9:9:9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.4



D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9.:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ [ YA X WA IS T L. EX 0 N [ 2N D 0 ¢
Limit03 Answers for No.12219

i _ s _ s , 2x—4 1]
A=(lim 4x" +3x" -3x-1=125) 2=(lim (4x +x" -3x)(2x+3)=210) 3=\ lim ———— =~
x—3 x—o2 >3 SxT+2x+1 26
. x—-8 -1 . x—21 i
4= lim = S=| lim —F—=-10 .6=(lim 4/x—2 =undefined)
e 64—x 16 x—>21 S5—4/x+4 x> 1
Ansl = )
: |x-3 C|x=7x+10]
7 =(lim |x—1|:2) .8=| lim = undefined Y=lm ————=-3
x—3 x—3 -X x5 x—=35
2 2 o 1557 =37x+20
A0=| lim 7 7-—=0 Al=| lim = undefined Math@MUT
L x—0- |x| X x—(5/3) |3X—5|
Ad=[1lim f(x)=-3, lim f(x)=3, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-5 lim g(x)=-5,lim g(x)=-5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-8 lim f(x)—g(x)=38 lim f(x) g(x)=15
x—0- x— 0+ x = 0-
3= . fx) 3 ,
lim = lim f(x) g(x) = undefined Math@MUT
L x— 0+ g(X) 5 x—0 |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
A4=(C lim f(x)=-5) S=( lim f(x)=-5) .6=( lim f(x)=-5.)
x—(-54)- x—(-54)+
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Limit03 Answers for No.12954

x—4 1)
J=(lim 4x’ +3x°=3x+4=130) 2=(lim (5x°—4x-3)(5x-2x+3)=171) lim 2—_—J
x—3 x2 Sx —4x+2 7
4 (1' x— 100 20} 5 [1‘ 8-x 6} 6= (lim +/x—3 = undefined)
4= m - —=- D= m - /= .0 = m X — = unaejine
xo>100 10 —4/x x>8 3—4/x+1 xo2
) ) |x—2| ] x—1 -1
7=(lim |x-2|=0) 8= lim = undefined 9=| lim —————=—
X2 xs2 X—2 xﬁy|x +3x—4| 5
2 2 . 6X+13x-5
A0=| lim 7 7-—=0 Al=| lim = undefined Math@MUT
x%&|x| X x—>(1/3) |3X—1| i
i J=[1lim f(x)=4, lim f(x)=4, lim f(x)=4]
x—0- x— 0+ x>0
2=[lm g(x)=-1, lim g(x)=1, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=3 lim f(x)—g(x)=5 lim f(x)g(x)=4
x— 0- x—0- x— 0+
3= . f(x) . g(x)
lim =4 1 = undefined Math@MUT
L x— 0+ g(x) x—0 f(X) |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—4- x >4+ x—>4
“|4=( lim fx)=-4) S5=( lim flx)=-4) .6=( lim flx)=-4)
x> (34)-

0022]

x> (34 x> (-3.4)
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Limit03 Answers for No.12964

(0
_ R o, 28 +3x8%+3x 8)]| Y
d=(lim 2x" +4x " +2x=28) 2=(lm (x"+x-4)(2x-2)=32) J3=| lim =" M
x—>1 x—3 x—1 4x+1 5 4
x—-49 x-4-5 -1
.4=(lim =14J .5=[lim —:—J 6=(lim 11 —x = undefined) || !
Ans] — x - 49 «/;—7 29 29-x 10 X3 h
) ) 3—x ] |x2—5x+6| | @
7=( lim |x-2|=4) 8=| lim T——7 = undefined 9=| lim ————=1 M
x—=>(-2) x—3 X—3| x—> 3+ x—3 U
T . |5x-2]
A0=| lim ——77=-o Al=| lim > = undefined Math@MUT T
L x—>0- X |x| x—>(2/5) 15x"+14x-28 Iy
L'
Ad=[1lim f(x)=-5 lim f(x)=35, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-1, Iim g(x)=-1, lim g(x)=-1]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=4 lim f(x)—g(x)=-4 lim f(x)g(x)=5
x— 0+ x—0- x— 0-
3= . f(x) ,
lim =-5 lim f(x) - g(x) = undefined Math@MUT
L x— 0+ g(X) x—0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
4= lim f(x)=-5.) S5=( lim f(x)=-5) .6=( lim f(x)=-5.)

x—(-52)- x—=(-52)+ x—>(-5.2)
[Page = 0023]
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Limit03 Answers for No.12971

(
i 742 11 )
. 3 ) . ) . X +x+4 40
A=(lim 4x" -2x"+2x=28) 2=(lim (x*+3x-2)(x-2)=16) S=\lm — ="~ M
x 2 x—3 ro4 2x =2x-3 21 a
Jx -1 7—x
3—4x - -
.4:(lim :—j .5:(lim —=6] .6=(lim 4/2 —x = undefined) t
Ans] = x—9 x=9 6 xo7 3—ax+2 x—3 h
' o |x=3] _ x—3 1| @
7=(lim [x-3[=1) 8=| lim = undefined 9= lim —————=—1]| s,
x—o2 3 X—3 X3 |x —4x+3| 2 -
2 2 _ 5x°—22x+38
A0=| lim 77-—=0 Al=| lim = undefined Math@MUT T
L x— 0+ |x| X x—(2/5) |5X—2| 41 )
L
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=7 lim f(x)—g(x)=-3 lim f(x)g(x)=-10
x— 0+ x— 0+ x —0-
3= . ftx) 2 . 8x)
lim ——=— lim = undefined Math@MUT
L x—0- g(X) 5 x—>0 f(X) |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x> 2+ x—2
|4=( lim fix)=-2)) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-1.8)- x—(-1.8)+ x—(-1.8)
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Limit03 Answers for No.13023
(
I . 3 2 . ) ) 2x+3 3) | Y,
Ad=(lim 5x -2x"-2x=111) 2=(lim (x+3)(4x +2x+2)=32) S=lm — = M
x—>3 x> 1 3 4x"—2x 34
1—afx -1 4 !
.4:(lim :—j .5:( lim ————= j 6=(lim 4/3—-x=4/2) t
vl x—1 2 x4 I —a/x+5 x> 1 h
Ansl = | B | B | @
7=( lim |x-1]|=2) .8=[lim =undeﬁned) .9:(lim - :1} v
x> (-1) r>3 3-X x— 1+ |x —3x+2|
, 1 , 12x*=23x+10 v
A0=| lim ——77=- A1=| lim = undefined Math@MUT T
L c0. X |x| x—(5/4) |4x—5| 41 )
L
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x = 0- x— 0+ x—>0
2=[lim g(x)=3, lim g(x)=3, lim g(x)=3]
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=5 lim f(x)—g(x)=-1 lim f(x) g(x)=-6
x— 0+ x— 0+ x = 0-
3= fn) 2
lim = lim f(x)— g(x) = undefined Math@MUT
L x = 0- g(x) x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
|4=( lim fix)=-1.) S5=( lim f(x)=-1.) .6=( lim f(x)=-1.)
x—(-12)- x—(-1.2)+ x—(-1.2)
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Limit03 Answers for No.13033
(
I o ' , , s e3+2x 84|
A=(lim x"—x=6) 2=(lim (3x"—4)(x"+4x)=96) 3= lim = M
x—3 x—>2 x—3 4x-2 5 a
3-4x -1 3—-4x+1 1
.4:(lim f:_j .5:(lim —:—J 6=(lim 41 —x = undefined) || !
x—=9 x—-9 6 x—>38 8—x 6 x—>1 h
Ansl = 5 \
. . |x—2| . |x—3x+2| @
.7:(hm|x—2|=0) 8= lim = undefined 9= lm ———=-1 M
x—>2 x—>2 - X x—1- x—1 U
N , |2x - 3]
A0=| lim ——=77=-00| .I/=| lim 5 = undefined Math@MUT T
L x—>0- X |x| x>3/2) 10x"—13x-3 Iy
_ i L
d=[1lm f(x)=-1, Iim f(x)=-1, lim f(x)=-1]
x = 0- x— 0+ x—0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x—>0
Ans2 = lim f(x)+g(x)=-4 lim f(x)-g(x)=2 lim f(x)g(x)=-3
x— 0- x—0- x— 0+
3= o flx) -l :
lim = lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(x) 3 x—>0 |
A=(lim f(x)=0) 2=(lim f(x)=1) 3 =(lim f(x)=undefined)
Ans3 = x—1- x— 1+ x—1
4= lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x—(2.2)+ x—(-2.2)

x> (-2.2)-
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Limit03 Answers for No.13197
(
I o , ) , s a-3x 135)]| 7
A=(lim 4x +3x" —4x-1=2) 2=(lm (5x"+x+3)(2x" —-1)=9) 3= lim = M
x—1 x—1 o3 2x—4 2 a
] 25 —x x—11 p
4 =| lim =10 lim —————=6 6= (lim 42 —x =undefined)
x—>25 5—4/x x> 11 A/x -3 x—>2 h
Ansl = ) ,
. - . |x —5x+6| @
7=(lim |x—1|=1) 8=| lim = undefined 9=| lim ————=1 Y,
x—2 x—1 x—1 | x =3+ x-3 U
5 5 |4x-5|
A0=| lim —7-—=0 Al=| lim = undefined Math@MUT T
L x— 0+ |x| X x> (5/4) 12x*—23x+ 10 Iy
L
Ad=[1lim f(x)=-4, lim f(x)=4, lim f(x)=undefined]
x—0- x— 0+ x>0
2=[1lim g(x)=5, lim g(x)=35,lim g(x)=5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=1 lim f(x)-g(x)=-9 lim f(x) g(x)=20
x— 0- x— 0- x— 0+
3= f(x) :
= lim f(x)+ g(x) = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 |
Ad=(lim f(x)=4) 2=(lim f(x)=5) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
4= lim f(x)=-2.) S=( lim f(x)=-2.) .6=( lim f(x)=-2.)
x—(-1.1)
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Limit03 Answers for No.13907

(
I , X , ) 3 42x+4 20)]] Y
A=(lim 2x +3x=22) 2=(lim (x+3)(x"+1)=28) S={lm —— =" M
x—2 x—1 2 3x +x+3 17 a
x-=7 1 3—x
.4=( lim [ :—j .5:(lim —:4J .6=(lim +/x -2 =undefined) t
Ans] — roa9 X—49 14 x3 2—4x+1 o1 h
) ] 2—x ) |x2—2x—3| @
7=( lim |x-3|=5) 8=| lim T——T = undefined 9= lim —————=4||| i
x—(-2) x—2 X—2| x— 3+ x=3
2 2 |2x-1] v
10=| lim —-77=-0| .Il=| lim —— —— _=undefined Math@MUT T
L x—>0- X |x| x> (1/2) 6X +x—-2 Iy
L'
Ad=[1lim f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=4, lim g(x)=4, lim g(x)=4]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=2 lim fx)-g(x)=-2 lim f(x)g(x)=-8
x — 0- x— 0+ x = 0-
3= o flx) 1 g(x)
lim == = undefined Math@MUT
L x— 0+ g(X) 2 x—>0 f()C) |
Ad=(lim f(x)=5) 2=(lim f(x)=06) 3 =(lim f(x)=undefined)
Ans3 = x—5- x— 5+ x—5
|4=( lim fix)=-4) S5=( lim f(x)=-4) .6=( lim f(x)=-4.)
x> (-4.9)- x> (-49)+ x> (-4.9)
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Limit03 Answers for No.13991

- x+3
J=(lim 4x*+3x=22) 2=(lim (2x—4)(5x*+2x)=0) 3=(lim
x—>2 x—>2 x4 4x+2
9—x Ax=-3-1 -1
.4=(lim =—6J .5=(lim —:—] 6=(lim 4/x-2=1)
x—=>9 1/7—3 x—>4 4-x 2 x—3
Ansl = )
. x-2] EEEa
7=( lim |x+3]|=2) 8=| lim = undefined 9=| lim
x—(-1) x—2 X~ o4 X—4
5 5 _ |5x-2]
A0=| lim ——77=-0| .Il=| Ilim 5 = undefined Math@MUT
L x—0- X |x| x—>(2/5) S5x +18x—-8
i d=[1lim f(x)=5, lim f(x)=5, lim f(x)=5] ]
x—0- x— 0+ x>0
2=[lim g(x)=-3, lim g(x)=3, lim g(x)=undefined |
x—0- x— 0+ x>0
Ans2 = lim f(x)+g(x)=8 lim f(x)—g(x)=8 lim f(x)g(x)=15
x— 0+ x—0- x— 0+
3= . f(x) 5 . )
lim ——=—" lim = undefined Math@MUT
L x—0- g(X) 3 x>0 & )C) |
Ad=(lim f(x)=2) 2=(lim f(x)=3) 3 =(lim f(x)=undefined)
Ans3 = x — 3- x — 3+ x—3
“l4=( lim f(x)=-5) .5=( lim f(x)=-5.) .6=( lim f(x)=-5.)
x—> (-4.8)- x> (-4.8)+ x— (-4.8)
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Limit03 Answers for No.14005
=
I . 3 2 . 3 2 . x+4 5) | Y,
A=(lim 4x +3x"+2x+2=50) 2=(lim (2x +4x —-x)(5x+1)=30) 3=|lm —— 5 =7 M
x—>2 x—1 xs1 SxT—x"+4 8
7-4fx 1 29— x !
.4=(lim =—j .5:[lim —:40] 6=(lim 41 —x = undefined)|| !
roa 9-x 14 x>2 Ax—4-5 x—>2 h
Ansl = ) ,
. . |x—2| . |x +x—12| @
7=( lim |x-3]|=6) 8=/ lim = undefined 9= lim —————=7||| iy
x—(-3) v X2 x - 3- x=3 U
2 2 ' |2x-1]
A0=| lim 77-—= Al=| lm ———— =undefined Math@MUT T
L x = 0- |x| X x—(1/2) 10x"+x-3 Iy
] _..!(_
Ad=[1lm f(x)=-3, lim f(x)=3, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=-4, im g(x)=-4, lim g(x)=-4]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=-1 lim f(x)—g(x)=1 lim f(x)g(x)=-12
x— 0+ x — 0- x— 0+
3= . ftx) 3 :
lim = lim f(x)— g(x) = undefined Math@MUT
L x — 0- g(X) 4 x—>0 |
A=(lim f(x)=1) 2=(lim f(x)=2) 3 =(lim f(x)=undefined)
Ans3 = x—2- x— 2+ x—2
4= lim f(x)=-5.) S5=( lim f(x)=-5.) 0= lim f(x)=-5.)
x> (-4.9)

x—(-4.9)- x—(-4.9)+
):9:9:0:9:9.0:9:9.90:9.9:9.0.9.9.9:9.9.9.0.0.9.0.9.9.9:0.0.9.0.9.9.9:0.9.9.0.0.9.0:9.0.9.0:0.9.0:9.9.9.:0.0.9.0.9.0.0:0.0.9.0.9.9.0.:9.9.9:0.0.9.0.:9.0.9.0.0.9.0.9.9.9:0.0.9.0.9.9.0:0.0.9.0.0.9.0.9.0.0.4
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Limit03 Answers for No.14157

“(
i : 2 . 2 . 4x* +x+3 11 7
d=(lim 3x"+1=28) 2=(lim (3x+1)(2x" -2x+3)=49) .3=|lim — = undefined M
x—>3 x—>2 x—2 2x-4
/\/7 a
S5—4/x -1 x—23
.4=[lim =—j .5=[lim —:40] 6=(lim +/x -2 = undefined) !
Ans] — x5 x—25 10 1523 S—4lx+2 X2 h
, . x-3 ¥ =9x+20] | @
7=( lim |x-2|=4) 8=| lim 77 = undefined 9=| lim =1 M
x—(-2) x—3 X—3| x— 5+ x=35 U
33 . |5x-2]
A0=| lim —+77=0| .II=| lim > = undefined Math@MUT T
x>0 X |x| x—>(2/5) 10x"=9x+2 Iy
L'
Ad=[1lm f(x)=-2, lim f(x)=2, lim f(x) = undefined]
x—0- x— 0+ x>0
2=[lim g(x)=35, lim g(x)=5, lim g(x)=5]
x— 0- x— 0+ x—0
Ans2 = lim f(x)+g(x)=3 lim f(x)-g(x)=-7 lim f(x)g(x)=10
x— 0- x— 0- x— 0+
3= . flx) 2 :
1 = lim f(x)— g(x) = undefined Math@MUT
L x— 0+ g(X) 5 x—>0 |
Ad=(lim f(x)=3) 2=(lim f(x)=4) 3 =(lim f(x)=undefined)
Ans3 = x—3- x— 3+ x—3
4= lim f(x)=-3.) S=( lim f(x)=-3.) .6=( lim f(x)=-3.)
x> (:37)- x> (3.7)+ x> (-3.7)
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